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In Q1-Q8, write the final answer in the provided blank, 2 points each.

( QL y = xtanh‘1 3x +Iny9 = x2, then y' =
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Q2: tanhx = 1—3 then coshx = .-

IC oSh (x) = \

Q4: T (z) = 2% log, z, then T'(z)=..
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Qs h(x) = /4+3f(x), f(1)=7, f(l)-4thenh(1)
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Q6: f(x) =V3+ xz then its Ilnear approxnmatlon nearx = 1.,
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Q7: lim,_z—="= .
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Solve Q9-Q11 completely, 5 points each.

Q9: Find the equation of the tangent line to the curve s
x? +y? = (2x% 4+ 2y? — x)? atthe point (0 z)
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Q10: Find all points on which the curve y = 2sinx + sin® x a

tangent. 9‘:2 (C‘SXWL’%COXZX:O
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Q11: Find all asymptotes of the function f(x) =

e
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